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Problem quickname: 1902

1)
Quick:
1902

Calculate the rate for the base and percentage values given and fill in the missing
number.

a) 100 % of 95=95 b) 50 % of 32=16 c) 75 % of 88=66
d) 100 % of 66=66 e) 90 % of 100=90 f) 12 % of 25=3
g) 64 % of 75=48 h) 45 % of 40=18 i) 40 % of 25=10
j) 30 % of 90=27

2)
Quick:
1902

Calculate the rate for the base and percentage values given and fill in the missing
number.

a) 90 % of 70=63 b) 10 % of 90=9 c) 75 % of 28=21 d) 15 % of 20=3
e) 25 % of 92=23 f) 25 % of 80=20 g) 100 % of 80=80
h) 100 % of 42=42 i) 40 % of 85=34 j) 65 % of 20=13

3)
Quick:
1902

Calculate the rate for the base and percentage values given and fill in the missing
number.

a) 100 % of 344.6=344.6 b) 50 % of 129.8=64.9 c) 80 % of 617.5=494
d) 75 % of 946.8=710.1 e) 40 % of 518=207.2 f) 75 % of 730=547.5
g) 25 % of 759.6=189.9 h) 100 % of 152.4=152.4 i) 100 % of 557.2=557.2
j) 90 % of 554=498.6

4)
Quick:
1902

Calculate the rate for the base and percentage values given and fill in the missing
number.

a) 20 % of 500=100 b) 60 % of 595=357 c) 30 % of 350=105
d) 20 % of 735=147 e) 80 % of 605=484 f) 20 % of 400=80
g) 100 % of 429=429 h) 65 % of 620=403 i) 25 % of 796=199
j) 30 % of 480=144

Good Luck!
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